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SECTION B

Answer ALL questions.
Write your answers in the spaces provided.

Inka looks at the performance reports for 2020 from three companies.
Company A made three quarters of a million pounds profit.
Company B made £648900 profit.

Company C made seven hundred and twenty-five thousand pounds profit.

-
(@) Which company made the most profit in 2020?

Show why you think this.

(2)

\§

Here are some numbers.

2.89 2.39 3.09 241 29

-
(b) Write these numbers in order of size.

Start with the smallest number.

(1)

(Total for Question 1 is 3 marks)
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( D

_____ 2 Alex and Seamus play golf.
B e Alex played 90 games of golf last year.
g S SRR She won 60% of these games.
<
' -O-l v Seamus played 80 games of golf last year.
\.-:g:i ;:E 2 He won 55% of these games.

= Z
\.j;Ei:’ E Alex thinks that last year she won 12 more games than Seamus did.

2 —
ST SRS N
o

b o E Is she correct?
e G Show why you think this.
= oz (4)
S a:

N J
(Total for Question 2 is 4 marks)

DO NUHMEHE MWK ANMS — omorer »
- **PRACTICE PAPER***



( )

3 Akeem wants to put wooden flooring in a room.

He has this sketch of the floor in the room.

o 3
7.6m - g L
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[ [] i _,g :
A o
53m 2 2
Akeem will buy the wooden flooring in packs.
Each pack covers an area of 0.4m’
Akeem can cut and join the flooring.
- ) L
Work out the number of packs of wooden flooring Akeem needs to buy. 55;6 %
(5) SO
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(Total for Question 3 is 5 marks)
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4 Jared has part of a map.
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N
N
hostel
cave
-
(@) Write down the bearing of the cave from the hostel.
Remember to show the units.
(2)
N\
Jared goes to the cave on Friday.
He knows that the probability of sunny weather on Friday is %
-
(b) Mark this probability with a cross (x) on the scale below.
(1)
0 1
g
(Total for Question 4 is 3 marks)
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5 Jesse is the head of sport at a college.

He has data about the number of students studying sport for the five academic years.

academic year 15/16 | 16/17 17/18 | 18/19 | 19/20

number of students 34 46 82 98 70

Jesse will show this data in a bar chart at a staff conference.

Draw a suitable bar chart for Jesse.

(3)
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(Total for Question 5 is 3 marks)
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6 Zelda works in a spa.
She takes care of the swimming pool.

The swimming pool is in the shape of a cuboid.
The water level in the swimming pool is 0.3 m below the top of the pool.

20m

A
v

10m

1.8m

Zelda knows 1m? = 1000 litres.
She needs to put chlorine powder in the water.

Zelda uses this rule to work out how much chlorine powder she needs.

volume of

divide by - multiply by

water - 5000 56

(litres)

ol

$403m

chlorine
powder

needed
(grams)

Work out how much chlorine powder Zelda needs to put in the water.

(6)
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(Total for Question 6 is 6 marks)
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Tom looks at a map.
1cm on the map represents 3km on the ground.

The distance between two cities on the map is 5cm.

(@) Work out the actual distance between the two cities.
(1)
km
(b) How many lines of symmetry does a square have?
(1

\§

Here is the front elevation of a building.

. 33.6m -

N - 7\2‘.1 m

274m
258m

v

) 349m g
-
(c) What is the greatest height of the building?
(1
m

(Total for Question 7 is 3 marks)
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8 Maya designs a flower bed.
She has this sketch of the flower bed.

g <
S @
SR Sk 215cm
B = 180cm
= o
\.jEEi* E
2 —
Bt 158 ggt
z =
\g; 8 120cm
5 Maya will put an edging along each side of the flower bed.
( )
(@) Work out the total length of the edging Maya needs.
(2)
cm
g J
[ [ )
|Z| (b) Show a check of your answer.
(1)
g J

(Total for Question 8 is 3 marks)
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9 Tim makes sandwiches in a cafe.
The sandwiches can only be sold on the day they are made.
o S
The table shows the number of sandwiches Tim did not sell last week. g o
S i
day Mon | Tue | Wed | Thu Fri Sat Sun = E ‘
=
number of sandwiches | 15 26 9 11 20 16 1 s E .
2
The cost of making each sandwich is £1.95 e 03':
X s
Tim thinks the mean cost of making the sandwiches he did not sell last week : \-\.;g :
was more than £25 per day. m o
> 0
s p :
Is he correct?
Show why you think this.
(4)
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(Total for Question 9 is 4 marks)
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10 Colin has this data about the number of treadmills in several gyms.
6 11 5 12 7 15
13 4 8 10 12 14
Colin begins to design a grouped frequency table to show this data.
He will use 3 groups of equal size.
( )
Complete the grouped frequency table for Colin.
(3)
number of treadmills tally frequency
1to5
_ J
(Total for Question 10 is 3 marks)
\ J
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11 Ashley wants to a buy a wall clock.
She finds these two offers.
Offer A Offer B
wall clock wall clock
normal price £31.80 normal price £34.50
now 45% off the normal price now half price
= —
Ashley thinks she will save less than 50p if she uses offer B rather than offer A.
-
Is Ashley correct?
Show why you think this.
(5)
N
\
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